0 | FMzRA7-Y / F-T ¥4 X 30%30, 40x40, 50X 50, 70X 70

System
Products

E%R

Industrial

Manual Vertical Linear Stages / Table Size 30X 30, 40X40, 50x50, 70x70

RERA

Manual
Stage

GZMO03S-X1 GZMO5S-X1

GZM04S-X1 GZMO7S-X1

[ElE
Rotation

@ GZMO03S-X1 @ GzmMo4s-X1

ZAN)L
(I=7)

Swivel

! @ 9
Til
(Tilt) Clamp®6 | : Clamp®8 ® ©

E@*ﬁ%‘ e Micrometer Head
AT—=Y

Motorized

Stage (73) 30 (15)

X-XY 24
X-XY 13

Micrometer Head

0 [ 0 %

(9.3) 40 (20 16/10
30

(66.7)

o | ™ !
z MNHI Pi
Z —¢ A4
i =

8M2 Depth 3mm @

i Fi
5 4 H7 Depth 3mm i Fid
Rotation 124 4-for M2 screws //

Shaft Length 5mm 4-M3 Depth 4mm 7 T T o

A R)L 4-M2 Depth 3mm
(I=%) ‘ 130 ‘ 4for M3 screws 40

Swivel ®4 H7 Depth 4mm Shaft Length 4mm
(Tilt)
P54
XTIk
27—
XY6
B
27—
Vacuum @ GZMO05S-X1 @ GZMO7S-X1
Stage

40
0
4
(86.5)

&
60
40

HlfHI=E

Control

E:I:ctron— _@ @_ Ww

== Clamp®d8
avho-3
Motor

Controller -
S= v ] ojo [ Micrometer Head
el (9.3) 50  (20) 16 /13 ) o @

Ry IR 20
Driver .
Box 30 : (9.3) 70 (20) 18/12

77U 60
TF—ay | 50
Applica-
tion

ET—9—

RSN ®,
Motor

Driver /

—g— 8-M3 Depth 4mm ﬁi T e :m
= —

Motor 4 H7 Depth 4mm 40 ~ 50

Cable 4for M3 screws .= |
o Shaft Length 7.5mm d
HESTER 8-M4 Depth 4mm /UL il i il

L160 4-for M4 screws 70
e P4 H7 Depth 5mm Shaft Length 7mm
HU—

Accesso-

ries

g ele I Micrometer Head Clamp®8

50

40
30

(96.5)
75

50
70
60
50
i

(116.5)

105

RE
VAT I
Inspection
System

E-016 CONTACT TEL +81-44-981-2131/FAX +81-44-981-2181 [E-mail] e-sale@kohzu.co.jp [URL] www.kohzuprecision.com



SUS/@Re / 3vy57~7 /34 70X-5%4 AL oy o () () O

SUS Body / Vertical X / Gothic-Arc / Side-Mount Micrometer

EXA
Industrial
BR
GZMO03S-X1 GZM04S-X1 GZMO05S-X1 GZMO7S-X1
Model Number -
S L GZMO3S-X1-R GZMO04S-X1-R GZMO5S-X1-R GZMO7S-X1-R Exper-
irror Model Number mental
7_-_7“)?@ 30mmx30mm 40mmX40mm 50mmx50mm 70mmXx70mm
Table Size FENEE
ESVEN I vo7—4 AT—Y
Guide Mechanism Gothic Arc Manual
B i
Motion Range +3.25mm +6.5mm
FEEHE
Verticality =10um/6.5mm =10um/13mm
B/NGEAHEL) 10um/B%%
Minimum Readout 10pm/div
IKFMHTETE
Load Capacity (Horizontal) 19.6N (2kgf) 29.4N (3ksgf)
HE SUS440C (F5 7 v NBiE 7L a2) O
Material SUS440C (Bracket material is Aluminum Alloy) Rotation
S8 SNEWIBREL (TS Y MBIEE B L)
Finish Nothing (Bracket finishing is Clear-Matt Anodizing) N
e B
Weight 0.14kg 0.31kg 0.49ksg 0.95kg S\{viv_el
COVES IAHRA=EAYK (6.5mm) RATAA—EAYN(13mm) (Tilt)
Actuator Micrometer (6.5mm)) Micrometer (13mm)
— A 1]
Sl ao AR GZMO3S-X1-C GZMO4SX1-C GZMO5S-X1-C GZMO7S-X1-C
ean Room Lubricant Model Number

) =200 ZEHROBKXIFREIC -C" HPFEET, FHMICDLVTIZC-003 o BERDCEZICKVRROBEL AV LT, XXY
N=2BRLUTFE. YA 7OX—ZOHZAELTEVET (NEEBIET Y FLLIEEBETHROEDET X, -~
=T 1) AHEH) . We appreciate the product customizing. Contact us for further information.

Clean room lubricant model has “-C” at the end of model number. Page C-003 for T Y YICDNTIZ0-001 R—S BB LTTFE0N,
further information. Only Micrometer part can change the clean room lubricant Refer to page 0-001 for information on accessory.
(Body part is already used the clean room lubricant).

NN

[Elk

Rotation

ZAR)L
(I=%)
Swivel
(Tilt)

754
PSS
25—
XYe

tT-5—-
Jvho-35
Motor
Controller

RSA4N
Ry IR
Driver
Box

77U
T—vav
Applica-
tion
tT—9—
[NE A
Motor
Driver

E==
=
Motor
Cable

8%
Appendix

BEOWAEDEIE*TEL:044-981-2131, FAX:044-981-2181 [E-mail] sale@kohzu.co.jp [URL] www.kohzu.co.jp E-017



